
Ενδεικτική επίλυση 
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β. Μr(NH3) = 1· 14 + 3· 1 = 17. 
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δ.  

                     1 μόρι  NH3                 π ριέ  ι           3 άτ μα   ρ γόν   

                   NA μόρια   3 (1 mol)    π ριέ   ν       3NA άτ μα   ρ γόν   

                           0,6 mol   3                π ριέ   ν        x άτ μα   ρ γόν   

Τα π σά   ναι ανάλ γα,  πότ  

         

           
 

    άτ μα   ρ γόν   

  άτ μα   ρ γόν  
          

Άρα τα 13,44 L NH3 μ τρημένα σ  STP, π ριέ o ν 1,8NΑ άτ μα   ρ γόν   ή 

1,8·6,02·1023 = 10,836·1023  άτ μα   ρ γόν  . 


